{uestion

16 | []x7=3934 562 | 1| yanmrests

17 | 4982 +35=] ] 5017 1 | Y5 Spring Test 4
18 | 9=[] 729 1 | Y5 Spring Test 1
19 | [[]=60x90 5400 1| Y4 Summer Test 5
20 | 732—480=] 683.9 1 | Y5 Summer Test 1
21 | 6132100 =[] 613.2 1 | Y5 Spring Test 2
22 | 7328=4=[] 1832 1 | Y5 Spring Test 5
23 [3152=[]-5210 | 8362 | 1 | yyspumerens

24 | 9000-3812=[ | 5188 1 | Y5 Autumn Test 3
5 | +-&-=[] Tiorequivi | 1 | Y5 Spring Test 6
26 | [ ]=2930— 861 2069 1 | Y5 Spring Test 4
27 | 5687 x7=[] 39809 1 | Y5 Spring Test 3
28 | 265+86= | 35.1 1 | Y5 Summer Test 1
29 [632=]+09 5688 | 1 | yysummerten
30 |8302+7=[] 1186 1 | Y5 Spring Test 5

aumbes Question Answer Maris | Related fest

1 |2x12=] 24 1| Y4 Summer Test 2
2 [2a-39- 15 |1 | hmis

3 |1e=1=] 18 1| Y4 Autumn Test 6
4 | []= 3000+ 1000 3 1 | Y5 Autumn Test 5
5 18x0= 0 1 | Y4 Autumn Test 4
6 |982—184= 798 1 | Y4 Spring Test 3
7 | +++=[] 2Zorequivi | 1 | Y5 Autumn Test 2
8 | Fofaa=[] 33 1 | Y3 Autumn Test 4
o | 713=]+421 292 L I

10 | 600x4=[] 2400 1 | Y4 Summer Test5
1 | 12=[] 144 1 | Y5 Autumn Test 4
12 | +++=[] £forequivi | 1 | Y5 Spring Test 6
13 |94+5=[] 18 r4 1 | Y5 Autumn Test 6
14 [ [ J=2x622x5 6220 1| Y4 Summer Test 3
15 |34+265=] 6.05 1 | Y5 Summer Test 1

Total marks

30




